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Question Number : 1 Question Id : 68634048502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634048506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
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Sub questions

Question Number : 1 Question Id : 68634048502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634048503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634048506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634048507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634048507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634048508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634048509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634048509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634048510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4 areg § 4gn fy U favm-fgl & 3fed % Sdrsy-
qTe - 3R TS qH 21 71| e, fawd oIk S &1 ®ef Bis M
1. Y Ao, fawmniealye, sied favm, guifarm
2. quifeRT, sreafarm, faemiaaius, B=radas
3. fawmnicsive, quifarm, sieafdRm, uyaras
4. TR, Y%A, quiloNH, [eHaeaiys®

Options :

686340191633. 1
686340191634. 2
686340191635. 3
686340191636. 4

Question Number : 9 Question Id : 68634048510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634048511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634048511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634048512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634048512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634048513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634048513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634048514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634048514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634048515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634048515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634048516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634048516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634048517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634048518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634048518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634048519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634048519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634048520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| )
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Question Number : 19 Question Id : 68634048520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afg 20 T 2023 DI HIGAR B, AT 20 T 2010 P TG BT B A1 & 4TI
1. HITEdR
 HHaR

 LEHAR
4, §eidar

Options :

686340191673. 1
686340191674. 2
686340191675. 3
686340191676. 4

[
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Question Number : 20 Question Id : 68634048521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS T U TR U6l & IR (RSP 39 &5 & AR I8 IR 96 6 |
D. B SR E & 099 3R C & ardl 3R dRI 8
D.H¥ il IRATRIZ
H.ESRFPHAAT
G.BIRCHHHAG
SO @ifel & A & 31 grft iR BT B
el fased g4
1.F
2.C
3.H
4.E
Options :
686340191677. 1
686340191678. 2

686340191679. 3
686340191680. 4

Question Number : 20 Question Id : 68634048521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS T U TR U6l & IR (RSP 39 &5 & AR I8 IR 96 6 |
D. B 3R E & A 3R ¢ & a1l 3R =18

D.H¥ il IRATRIZ

HERFSOAE

G.BIRCHAAT

39 Bl 6t A S & arft siR d3T 7

el fawea g

1..E

| )

i
3.H
4. E

Options :

686340191677. 1
686340191678. 2
686340191679. 3
686340191680. 4

Question Number : 21 Question Id : 68634048522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fer g faifesr TR o 31efi usell Yord areg fasTs g |
TS Saglall

TS ol
1S dedt

4. @18 fereq

Options :

686340191681. 1
686340191682. 2
686340191683. 3
686340191684. 4
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Question Number : 21 Question Id : 68634048522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg fafemr ek & 31efi= ueeh Yog ogH faers 5|
1. 1S Sl

TS ol
1S deat

4. @18 fereq

Options :

686340191681. 1
686340191682. 2
686340191683. 3
686340191684. 4
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Question Number : 22 Question Id : 68634048523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

AT T I
YR BRI 7 aredg e fier

A |35 14 L [GHH 31 3iEPR

B. [or =i 22 I1. [FoR ¢ ofied & 3GPR

C. [arsa 25 111 [enfé Ta=al B ATPR
D. |3=5¢ 32 IV. [Fifdene STERl &1 ffier
fFafead fawedl & T 9ol SR &1 909 Sifog ;

1. A-II. B-I, C-III. D-IV
2. A-L. B-II, C-IIIL. D-IV
3. A-IL B-1. C-IV, D-III
4. A-L. B-II. C-IV, D-III

Options :

686340191685. 1
686340191686. 2
686340191687. 3
686340191688. 4

Question Number : 22 Question Id : 68634048523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

I & I
WA ST &1 3T55g Hifee sfteR
A |3 14 I [GHA1 &1 SHUBR
B. [sFwie 22 I1. 4o s odidd & 3iepR
C. [arfwse 25 111 [enfHe Taaa1 31 ATDR
D. [3w5G 32 IV. [Fifdenie JuaRl &1 iIeR]
frafafad foeedl & T 9gt SR 1 g i

1. A-II. B-I. C-III. D-IV
2. A-I. B-11. C-III. D-IV
3. AL B-1. C-IV. D-III
4. A-1. B-II. C-IV. D-III

Options :

686340191685. 1

686340191686. 2

686340191687. 3
686340191688. 4

Question Number : 23 Question Id : 68634048524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
od S5@ U Tl SISl ol § ol 3ud! YT 391 gad ! -
1. et 3
T 3ot
3T Jeit
4. IS IS

Options :

686340191689. 1
686340191690. 2
686340191691. 3
686340191692. 4
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Question Number : 23 Question Id : 68634048524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



od S5@ U Tl SISl ol § ol 3ud! YT 391 gad ! -
1. TTferet

T 3ot

3T Jeit

4. IS IS

Options :

686340191689. 1
686340191690. 2
686340191691. 3
686340191692. 4
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Question Number : 24 Question Id : 68634048525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYT I 5519 PR YD -1 T H T T3 1 duT-e e FHuiia Pl g
SY II: A1 IR T, AP axq SMUFTE & d8d. Saxd® a% 7ol o

SWRIad HY- & 3f1cild H, i Ay 71y fasedl § 3 a8 ugad 3R &l 99 DI
1. AR I SH Wl 8
2. BYA T IR G Tad &
3. FUT 1 HEl 6, W] U 11710 ©

4. YT 1 TTad, AfbT HYF 11 Jel o

Options :

686340191693. 1
686340191694. 2
686340191695. 3
686340191696. 4

Question Number : 24 Question Id : 68634048525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A a1 Py R U &
BY I 5519 TRBR FAD -1 AT 1 T3 &1 deni-e ged Fuia Sl g
HYF I1: T SR TH1, HTID a5 MU & T84, Saxa® a%g 7ol o
SWRIGd DY & el 1, A U U fadeti & 9 Fa8 SUgead 3R &1 99+ SIuU:
1. BYT1 IR 1 G e €
2. YT AR I &1 Tad &
3. BYT 1 e 8. A YA 11 7TAd &

4, PYT I, AT YT I 98l §

Options :

686340191693. 1
686340191694. 2
686340191695. 3
686340191696. 4

Question Number : 25 Question Id : 68634048526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U srsarl fod wa 3 Uefid g
1. fordpe
RECC I E)
fafeas
4. dsfired

[ ]

L

Options :

686340191697. 1
686340191698. 2
686340191699. 3
686340191700. 4

Question Number : 25 Question Id : 68634048526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uebo frsarf g @a 9 9efid g
1. forbe
fafems
4, §8fireq
Options :
686340191697. 1
686340191698. 2

686340191699. 3
686340191700. 4
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Part B: Social Work

Section Id : 686340956
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401581
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Question Number : 26 Question Id : 68634048527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are true with regards to social reform movements in India?

A. Nirguna and ulatbansi poems are associated with Buddhist tradition

B. Baba Guru Nanak had set up rules for congregational worship (sangat) involving collective recitation
C. Tazkiras (literally “collection of letters’) is a work of Sufi Master Amir Hasan Sijzi Dehlavi.

D. Kabir, Raidas. Surdas are the prominent names in Bhakti tradition in 1400-1500

Choose the correct answer from the options given below:

1.A& Conly

| )

.B & C only
3.C & D only
4.B & D only

Options :

686340191701. 1
686340191702. 2
686340191703. 3
686340191704. 4

Question Number : 26 Question Id : 68634048527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA H IS GUR A< & el e a9 o I oy 9d 82

A. o1 3R Icreaie Siaard g5 &1 IR 3 9eia 3

B. 9161 7[% AF® - WH[gH UIsare YHaHT IS (I77d) o (Had] &1 wiiyd )

C. S RY (RMfsde 312 - A 1 HUG) P! IS HHR 58 Rl dgerd! B =1 8
D. T 1400-1500 H PR, TERT 3R YR Hick] URIORT & Wi A 3G 5 |

=it fau T fawedt 7 9 Hel SR &1 904 DI
1. Pad AR C
2.PaAB AR C
3.%40 C AR D
4. P B 3R D

Options :

686340191701. 1
686340191702. 2
686340191703. 3
686340191704. 4

Question Number : 27 Question Id : 68634048528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A. Authoritarianism is a political system that facilitates people's participation in government

B. Bilateral descent is a system of tracing kinship through both men and women

C. Assimilation 1s the experience of isolation resulting from powerlessness

D. A preoccupation with rules and regulation to the point of thwarting an organization's goals is called
bureaucratic authority

E. Charismatic authority 1s power legitimised through extraordinary personal abilities that inspire devotion
and obedience

Choose the correct answer from the options given below:

1.B & E only

| )

.A & C only
3.D & E only
4.C & D only

Options :

686340191705. 1
686340191706. 2
686340191707. 3
686340191708. 4

Question Number : 27 Question Id : 68634048528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. TP aTE U Ul IS S0aT § off TRPR B S=dl &1 UFTER! &1 G1H a1 ¢

B. fgmeta dwey gow iR afgasit. <H1. & Tram I uiRkaR® 16! &1 9al - &) R g

C. TR ¥ U] §U SIETa BT S4a & M@ B |
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GG

E. Yl 371 SIPINGI DI WicHIgd B alell SRITRU sfderTd &arsf o Hrend I dedl i d-
arell 2k @l BREATE WIER Hed 5|

=it fau T fawedt 7 9 Tel SR &1 904 DI
1. $ad B R E
2. PAAAARC
3.%a9 D AR E
4. %9d C 3R D

Options :

686340191705. 1
686340191706. 2
686340191707. 3
686340191708. 4




Question Number : 28 Question Id : 68634048529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Bonding or natural attraction among group members is known as cohesiveness

B. Listening is a biological activity that involves bio-receptor cells

C. Decoding is taking ideas and cues and giving them meaning

D. Association and dream interpretation are important methods in psycho-analysis

E. Values are the cognitive components of attitudes that provide base on which attitudes stand, such as
belief in the God

Choose the correct answer from the options given below:

1.A.B & E only

[ )

.B.C & D only

L]

.A.C&D only
4.C.D & E only

Options :

686340191709. 1
686340191710. 2
686340191711. 3
686340191712. 4

Question Number : 28 Question Id : 68634048529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. IR & 95Hl & o9 951 91 IRER AHY0 HT <TIoH / TAiGT Hed 8|

B. =1 U Siaaql=e Tdiafe g for oia-ame! SiRe YHeT U gl

c. f[adidra= a1 HearA ag Wica § foad faaRT 3R Hobdl &1 980 S I o fqar amar g
D. Wiedd SR Y-l BHIGRey0] &l Hgayy (ol g

E. 0ol gl & ST 926 ¢ ol SAgRil &l 84 36 &1 SUR &d ¢ ol 23R J faym |

- feu e fawedl & 9 gel 3w @1 997 Sifo:
1. $aTA. B HRE
2.%ddB.C 3RD
3.PaA A C IR D
4. %9 C.D IRE

Options :

686340191709. 1
686340191710. 2
686340191711. 3



686340191712. 4

Question Number : 29 Question Id : 68634048530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following attended the practice of sati on the basis of both appeals to humanitarian and natural
rights doctrines as well as Hindu Shastras?

1. Pandita Ramabai

| )

. Swani Dayanand

Laa

. Raja Ram Mohan Roy

4, M.G. Ranade

Options :

686340191713. 1
686340191714. 2
686340191715. 3
686340191716. 4

Question Number : 29 Question Id : 68634048530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191713. 1
686340191714. 2
686340191715. 3
686340191716. 4

Question Number : 30 Question Id : 68634048531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: The availability of resources 1s a necessary condition for the development of any region, but
mere availability of resources in the absence of corresponding changes in technology and institutions may
hinder development

Reason R: There are many regions in our country that are rich in resources but these are included in
economically backward regions.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

686340191717. 1
686340191718. 2
686340191719. 3
686340191720. 4

Question Number : 30 Question Id : 68634048531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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EIESE

SWRIGd DY & il |, [ U U fasb el H 9 a9 Sugad 3R &1 99 HIfuT :

1. A SRR &l 98l € SR R. A S Hel ARAT &

2. A IR R &I 98 €, AP R, A T WET R T ©
3. ATEI g AT R ORI TET ©

4 ATSI TR APIR TEI B

Options :

686340191717. 1
686340191718. 2
686340191719. 3
686340191720. 4




Question Number : 31 Question Id : 68634048532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Brahmo Samaj Movement was started against the socials evils. customs and practice of Indian
society like sati system. It is often called the protestant movement of Hindu Religion and raised public opinion
against the practice of prohibition of widow remarriage.
Statement II: The Brahmo Samaz Movement gave self-reliance and propagated vedic religion to the people.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement [ is false but Statement II is true

Options :

686340191721. 1
686340191722. 2
686340191723. 3
686340191724. 4

Question Number : 31 Question Id : 68634048532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BT AR 11 S T &
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4. DY 110 5. Al HYH 1T Hel §

Options :

686340191721. 1
686340191722. 2
686340191723. 3
686340191724. 4



Question Number : 32 Question Id : 68634048533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The first professional school of social work, Sir Dorabji Tata Graduate School of Social Work was
set up in Bombay by Sir Dorabji Tata Trust in 1936. This school is now known as the Tata Institute of Social
Sciences (TISS).

Statement II: Sir Clifford Manshardt. an American missionary was its first Director. who later on founded a
settlement house called Nagpada Neighbourhood House in Bombay.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement [ is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340191725. 1
686340191726. 2
686340191727. 3
686340191728. 4

Question Number : 32 Question Id : 68634048533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191725. 1
686340191726. 2
686340191727. 3



686340191728. 4

Question Number : 33 Question Id : 68634048534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The motto of "Liberty. Equality. Fraternity" was originated for the first time in

1. American Revolution
2. India's Independence Struggle
3. Russian Revolution
4. French Revolution

Options :

686340191729. 1

686340191730. 2

686340191731. 3
686340191732. 4

Question Number : 33 Question Id : 68634048534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. RIS Bl
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Options :

686340191729. 1

686340191730. 2

686340191731. 3
686340191732. 4

Question Number : 34 Question Id : 68634048535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Panchayati Raj was constitutionalised through the
1. 427 Constitutional Amendment

- 44™ Constitutional Amendment

(B

3. 73" Constitutional Amendment

4, 04™ Constitutional Amendment

Options :

686340191733. 1
686340191734. 2
686340191735. 3
686340191736. 4

Question Number : 34 Question Id : 68634048535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191733. 1

686340191734. 2

686340191735. 3
686340191736. 4

Question Number : 35 Question Id : 68634048536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Constitution of India. which of the following are fundamental for the governance of the
country?

1. Fundamental Rights

| )

. Fundamental Duties
3. Directive Principles of State Policy
4. Both1 &2

Options :



686340191737. 1
686340191738. 2
686340191739. 3
686340191740. 4

Question Number : 35 Question Id : 68634048536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Oiferd Faod
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Options :

686340191737. 1
686340191738. 2
686340191739. 3
686340191740. 4

Question Number : 36 Question Id : 68634048537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Judicial review 1s the power of the judiciary to examine the constitutionality of legislative
enactments and executive orders of both the central and state governments.

Statement II: The phrase 'Tudicial Review' has nowhere been used in the Constitution, the provisions of several
Articles explicity confer the power of judicial review on the Supreme Court and the High Courts.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

686340191741. 1
686340191742. 2
686340191743. 3
686340191744. 4



Question Number : 36 Question Id : 68634048537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy T U E:

PYF 1 - TIPS GHIET T $1 98 Widd § forae A1 9 98 &5 3R I, a1, ISR &
FAGRI AT 3R [Fumdt sfti=gal #f ysara sdi 81

HUF 11 : T FHleT TS &1 SUAN 9= § Sl el (601 701 5. B Siwva) & Wy Wy
T Ty 9T =7 el B e grie] B wihgd 3d g

SRS FYF & AAIP 1, - [0 0 famadl § I 9gl 39 &1 99 ifo:

1. PYTI AR IS T
YT RIS T T

HYTI IO 8. AfpT YT I T &

| )

L]

=

PYTI AT B, AfPT HYT I T o

Options :

686340191741. 1
686340191742. 2
686340191743. 3
686340191744. 4

Question Number : 37 Question Id : 68634048538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The cultural lag as 'the strain that coexists between two correlated parts of culture that changes at
unequal rates of speed.' This maladjustment is the immediate result of the stram towards consistency which
exists between the various parts of society.

Statement II: The hypothesis of the 'Cultural Lag' was first introduced by W.F. Ogburn in his work 'Social
Changes' in 1922,

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

686340191745. 1
686340191746. 2
686340191747. 3
686340191748. 4

Question Number : 37 Question Id : 68634048538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIECIE ISRt

HUF1 : TPIAD <RI ‘T8 010 & a1 Ipid & &l Jeaad (gl & dld HesiadH Wl . ol
fewy 7ifay 9t s <=f ¥ ufafda g1d 81 ug gammdier woe & fofie fewdt & &g e dnfa
& Ufd T1d &1 U dleblicid GIRUmH gidl g

HYA I : “HRPIAD SR DI SUURUN YT Socg, U, SHTTa- A 9 1022 T S0+ g&id HIwrd
ol (e gikad=) 1 di

SURIad HY- & 3Tl |, - fGu 7Ty fasedi § 9 91 IR &1 90 Sif:

1. PUTI RIS TS
2 Y1 AR GHT 3T &

3 PYT I e, Al PUT I HTT &

4. YT ITT e, AfpT PUT I T &

Options :
686340191745. 1



686340191746. 2
686340191747. 3
686340191748. 4

Question Number : 38 Question Id : 68634048539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT a social security measure in India?
1. The Industrial Disputes Act, 1947
2. Workmen's Compensation Act.1923
3. The Employee's State Insurance Act. 1948
4. Coal Mines provident Fund and Bonus Schemes Act, 1948
Options :
686340191749. 1
686340191750. 2

686340191751. 3
686340191752. 4

Question Number : 38 Question Id : 68634048539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafeied § 9 &F YRa U U6 SHEIoe IR&T &1 391 61 67
1. ST faarg SHfef-am, 1947
 HIER Uiagfd sifefa, 1023
 BIER] Iy S ST, 1048
4. DI GEF UIfdS< B8 SR a9 TIoH HfUf-aH, 1048

| ]

L]

Options :

686340191749. 1
686340191750. 2
686340191751. 3
686340191752. 4

Question Number : 39 Question Id : 68634048540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gorden Allport, in his Trait Theory. has categorized traits into which of the following groups:

1. Cardinal. Central and Secondary

| B

. Contextual. Circumstantial and Covert
3. Primary, Secondary and Tertiary
4. Cardinal. Primary and Secondary
Options :
686340191753. 1
686340191754. 2

686340191755. 3
686340191756. 4

Question Number : 39 Question Id : 68634048540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 ST RagTd T T1TS Sfiadie A @auil oi Fafafaa o 9 fas gl o aviied faar g2
. a1 AR fgdiae
 giefie, uRfufdssiR v
e, fediae 3R qdas
.7, wnufies SR fgdio®

Options :

686340191753. 1
686340191754. 2
686340191755. 3
686340191756. 4

[a—y

[ )

Lad

e

Question Number : 40 Question Id : 68634048541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Jaltript1", a device developed by Central Arid Zone Research Institute (CAZRT). Jodhpur is applicable for

1. Drip irrigation of planted trees

| ]

. Increasimng efficiency of agricultural nrigation
3. Spray irrigation of agricultural crops
4. Generating artificial gain

Options :
686340191757. 1



686340191758. 2
686340191759. 3
686340191760. 4

Question Number : 40 Question Id : 68634048541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HS1Y Y & ST T (.U HS. HR.IZ.). YR gRI [dei¥d «Saqie 92 Fafafgad 9
fergds forg vaTg 82

1. AT gafi 1 4 / Fama Ri=rg
2. i RS o qgaagq o
3. PY Badl 31 [Ss®E REg §
4, FET a9 ITF B 1
Options :
686340191757. 1
686340191758. 2

686340191759. 3
686340191760. 4

Question Number : 41 Question Id : 68634048542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

International Gandhi Peace Award is an annual prize given by and most recently
has bagged this award:

1. Government of Norway: Food and Agriculture Organization
2. The United Nations: The European Union

3. Government of India; Sheikh Mujibur Rehman

4. Gandhi Bhawan, New Delhi; Anna Hazare

Options :

686340191761. 1
686340191762. 2
686340191763. 3
686340191764. 4

Question Number : 41 Question Id : 68634048542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SFRRIETE TR S REPR U A RR § S SR fear SiTar € SR BT €1 Bl
U8 R a8l

1. F1d WRPR, W Ud DY 134 (TPl
. Hgad Y HY. AU T

- YRd WHR, T GollgR THH

4, TIefY 1T, 5 foewdl, o 89

| )
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Options :

686340191761. 1
686340191762. 2
686340191763. 3
686340191764. 4

Question Number : 42 Question Id : 68634048543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following provides a framework of ideals and values for the Indian administration

1. The Preamble

| )

. The Fundamental Rights

Lad

. The Fundamental Duties
4. The Directive Principle of State Policy (DPSP)
Options :
686340191765. 1
686340191766. 2

686340191767. 3
686340191768. 4

Question Number : 42 Question Id : 68634048543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad 0 9 oM yRde Sfaur & e srexif $ik gedl 1 Us eiar 3usd BRIl 62
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Options :

686340191765. 1
686340191766. 2
686340191767. 3
686340191768. 4

Question Number : 43 Question Id : 68634048544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
PIL stands for
1. People's Interest League
2. Public Interest Litigation
3. Public Investigation Litigation
4, People's Information Litigation
Options :
686340191769. 1
686340191770. 2

686340191771. 3
686340191772. 4

Question Number : 43 Question Id : 68634048544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o, 3173.Tq. BT Ul =9 31 82
e g A
. gfstiep grexe fafeaeq
 gfster g-afeeiie fafeaem
iy SR RfiRE

Options :

686340191769. 1
686340191770. 2
686340191771. 3
686340191772. 4

a—y

| )
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=

Question Number : 44 Question Id : 68634048545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Constitution of India has abolished untouchability under

1. Article 12

| B

. Article 14

LIF¥]

. Article 16
4, Article 17

Options :

686340191773. 1
686340191774. 2
686340191775. 3
686340191776. 4

Question Number : 44 Question Id : 68634048545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ =g & siaTid YR WigyT = SRgRgdl &1 a1 &R f3an

1. 3¢ 12

39S 14

™4 16

3G 17

Options :

686340191773. 1

686340191774. 2

686340191775. 3
686340191776. 4

| )

[#%]

=

Question Number : 45 Question Id : 68634048546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1 LISTII
A |Swami Vivekananda I My experiments with truth
B. [Sardar Patel I1. JAzad Hind Faw
C. |Subhash Chandra Bhosg III. [Chicago lecture on Hinduism
D. Mahatma Gandhi IV |Integration of Dominions into Eepublic of Indial

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| E)

AL B-IVL. C-I1, D-I
3. A-L. B-II, C-III. D-IV
4. A-II1, B-II. C-IV. D-I

Options :

686340191777. 1
686340191778. 2
686340191779. 3
686340191780. 4

Question Number : 45 Question Id : 68634048546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% 91y g2t 11 BT fHeH i
T 1 T I
A [@ fad@Hg| 1 [9d & 9 IR wE
B. [Rerua |1 |og fe< vid
C. [y a9 |11 R ud W Riarn H Yie
D. e el | 1v. [HRd & orda | Ramdt &1 udhid

=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-IV. B-III. C-II. D-I

|

AL B-IV. C-I1L D-I
3. A-L, B-II. C-III. D-IV
4. A-IIT, B-11. C-IV. D-I

Options :

686340191777. 1
686340191778. 2
686340191779. 3
686340191780. 4



Question Number : 46 Question Id : 68634048547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who had popularised the term "Harijan' in the 1930s to counter the pejorative change carried by caste names

1. Dr. B. R Ambedkar

2. Sardar Vallabhbhai Patel

L]

. Mahatma Gandhi
4. Ramaswami Periyar

Options :

686340191781. 1
686340191782. 2
686340191783. 3
686340191784. 4

Question Number : 46 Question Id : 68634048547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1930 & ERP P fobg ST H Sfif-ifed HTHFYED] $I F¥Y B & oY 8RS e 31 A
EEICIE

1. S1. d1.3R. fESH

[ ]

 TRER TEIHHTS Ued
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Options :

686340191781. 1
686340191782. 2
686340191783. 3
686340191784. 4

L]

Question Number : 47 Question Id : 68634048548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Assertion A: In the world as a whole. the environment has degraded during past several decades.
Reason R: The population of the world has been growing significantly.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R 15 false

4, A is false but R is true

Options :

686340191785. 1
686340191786. 2
686340191787. 3
686340191788. 4

Question Number : 47 Question Id : 68634048548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
$U T:

HiFy A - Ued oo el §, T g1 & T0F IR 81, TaiaR0 &1 eRUI g3 B

BRUR - 9y T w1 dig 71fd @ 5¢ w8

QWRIFT BYF & TdlD 4. A [SU U [dhed] H U Tl 3L &l 99 B I[910:

1.AFRRE TG € SIRR AT Gel TRATE
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3. AT e AfPAR 3T B
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Options :

686340191785. 1
686340191786. 2
686340191787. 3
686340191788. 4

Question Number : 48 Question Id : 68634048549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following denounched the injustice of the caste system and scorned its rules of Purity and
Pollution. and founded the "Satyashodhak Samaj"?

1. Dr. B.R. Ambedkar

2. Jotirao Govindrao Phule

3. Ayyankali

4. E. V Rmasami Naickar (Periyar)
Options :
686340191789. 1
686340191790. 2

686340191791. 3
686340191792. 4

Question Number : 48 Question Id : 68634048549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o 9 fega afi uun & SRl @1 dig F-=81 @1, Sk e au1 guu 8 et gud gl o
A B AR FIYYS GU DI R D12

1. 1. &1 3R, 3FdSh

2. SIIfcRTg TMideRa ot

3. DT

4. 3., IR AEe (ORaR)

Options :

686340191789. 1
686340191790. 2
686340191791. 3
686340191792. 4

Question Number : 49 Question Id : 68634048550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Adi Dharma Movement in Punjab. is an example of

1. The Dalit Movement

2

. Factory Worker's Movement
3. The Tribal Movement

4, The women's Movement



Options :

686340191793. 1
686340191794. 2
686340191795. 3
686340191796. 4

Question Number : 49 Question Id : 68634048550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
USTe 1 *31fS Y Sf=alarT fhaehT 3aTeru 87
EANGIEIEARE|
 PREMI - TSGR B 5Ie
 SffearEt arara
iR AT

Options :

686340191793. 1
686340191794. 2
686340191795. 3
686340191796. 4
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Question Number : 50 Question Id : 68634048551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dalit Panthers, a militant organization of Dalit youth, was formed in n as a part
of their caste assertion.

1. Maharashtra, 1972

| ]

. Punjab. 1970

L]

. Bihar , 1975
4, Tamil Nadu, 1978

Options :

686340191797. 1
686340191798. 2
686340191799. 3
686340191800. 4

Question Number : 50 Question Id : 68634048551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G garsfi & U TSI T8, Glerd U4E, B R T T 3% Wifaqg &g /
WAE & B8 SR =91 g3 Ut

1. HERIY. 1972
.God, 1970

faBR. 1975
LR 1g. 1978

Options :

686340191797. 1
686340191798. 2
686340191799. 3
686340191800. 4

| )
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Question Number : 51 Question Id : 68634048552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an important effort in the actualisation of a gender just society?

fa—y

. Upjawala
2. Swadhar
3. Ustaad
4. Beti Bachao. Beti Padhao
Options :
686340191801. 1
686340191802. 2

686340191803. 3
686340191804. 4

Question Number : 51 Question Id : 68634048552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad 1 9 oH e dfiie g ur Snuid 9uTs S RO § Ue Hgayul YA g2

1. Jwidd

z



Options :

686340191801. 1
686340191802. 2
686340191803. 3
686340191804. 4

Question Number : 52 Question Id : 68634048553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of ecological Movement?

1. The Tebhaga Movement

| B

. Chipko Movement
3. The Santhal Hool
4. The Swadhyaya Parivar Movement

Options :

686340191805. 1
686340191806. 2
686340191807. 3
686340191808. 4

Question Number : 52 Question Id : 68634048553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fgfafad 5 9 oF oifufdet / gaiaeu r=ias &1 U6 38 82
1. faHm 3r=aier

RELCAR IEANE
. YTagd
4, WY URAR A5a
Options :
686340191805. 1
686340191806. 2

686340191807. 3
686340191808. 4

| )

L

Question Number : 53 Question Id : 68634048554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Ozone layer I |Tsunami
B. |Green House Effect Il [UV Radiation
C. |[Narural Hazards I11. PMethane
D. [Sustainable Development] IV [Eco-Centrism

Choose the correct answer from the options given below:

1. A-II. B-III, C-I. D-IV

| E)

AL B-IIL C-I1. D-IV
3. A-IV. B-IIL C-I. D-II
4. A-IV. B-1I. C-III, D-I

Options :

686340191809. 1
686340191810. 2
686340191811. 3
686340191812. 4

Question Number : 53 Question Id : 68634048554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% 91y g2t 11 BT fHeH i

T 1 AT I
Ao g | L[
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Ui faual | 1L [
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=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-II. B-III. C-I. D-IV

ofolwF

|

AT B-IIL C-1. D-IV

L#N]

CA-IV. B-IILL C-1L D-II
4. A-IV, B-II, C-II1, D-I

Options :

686340191809. 1
686340191810. 2
686340191811. 3
686340191812. 4



Question Number : 54 Question Id : 68634048555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Unquiet woods' - book written by

1. Martin Luther King

[ )

. Sunderlal Bahuguna

L]

. Shashi Tharur

4. Ramachandra Guha

Options :

686340191813. 1
686340191814. 2
686340191815. 3
686340191816. 4

Question Number : 54 Question Id : 68634048555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHSTIE ISU' (ST a) ATHD G & Idl dH 82
1. AT R b
2. raxard agiul
3. QR YR

4. TG R

Options :

686340191813. 1
686340191814. 2
686340191815. 3
686340191816. 4

Question Number : 55 Question Id : 68634048556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following came in the year 2005

A. Rights to Information Act came into force

B. National Rural Health Mission launched

C. National Disaster Management Authority created

D. Jawaharlal Nehru Urban Renewal Mission launched

E. National Food for Work Programme launched
Choose the correct answer from the options given below:

1. A& B only

2.A.B & C only

3.AB.C&Donly

4.A.B.C,D.E

Options :

686340191817. 1
686340191818. 2
686340191819. 3
686340191820. 4

Question Number : 55 Question Id : 68634048556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy 2005 § Fefafad 8 T oF affaa | smap

of S{TTeT Hae W &7 T3
D. SaTeRAId 8% el RGafe (R TdieRo) e g2 g
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- faU T faw et 7 9 Tel STR &1 904 Sifg:
1. $ac A 3R B
2. PIAA. B AR C
3.Pad A.B. C 3R D
4 BTAA.B.C.D ARE

Options :

686340191817. 1
686340191818. 2
686340191819. 3
686340191820. 4



Question Number : 56 Question Id : 68634048557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true with regards to social research:

A. Unobstrusive observation 1s carried out in experimental research setups

B. In focus group discussions, hamogenity of context is often maintained

C. Pearson's r is a method for examining relationships between interval/ ratio variables

D. Triangulation is restricted to using qualitative and quantitative approaches in the same study

Choose the correct answer from the options given below:

1. A& D only

| )

.B & C only
3.B & D only
4. A& Conly

Options :

686340191821. 1
686340191822. 2
686340191823. 3
686340191824. 4

Question Number : 56 Question Id : 68634048557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIS SEE & 9y 1, Fafid d 9 s I s 9a

A. TG Y ST Sfaeie- 8 JanT § &Y o 6

B. BI%d - G J4913 H Urg: ¥as &1 FHR=Ydl §1¢ 34! Sl g

c. TR &1 v (3R) 3R / 39 =R & dg Tauif B Usara o= 31 0P A g1
D. e U € 21era H TUdEs 3R 9ETES ERE 0 & ST a9 Hiftd Edr gl

-1 feu T faoedl & 9 969 39gad SR &1 90 BT
1. Had A SR D
2. PaAB AR C
3.%ad B IR D
4. PAAAIARC

Options :

686340191821. 1
686340191822. 2
686340191823. 3
686340191824. 4




Question Number : 57 Question Id : 68634048558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IO
. [Nandini Sundar] [ [Sense and solidarity]
Jan Myrdal II. [Broken republic
Arundhati Roy | IT1. [Red star over India
. Jean Dreze IV. |The burning forest

o] [l fos] i

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| ]

. A-ITL, B-III, C-IV, D-I
3. A-IV. B-IIL. C-II. D-I
4. A-IV. B-1. C-11, D-III

Options :

686340191825. 1
686340191826. 2
686340191827. 3
686340191828. 4

Question Number : 57 Question Id : 68634048558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

Gl gt I
RETTer | 1 [ v afasiE
GHffET | I [gied Rufsas
HPRAI UG | 111 {8 R ae 23]
i S V. [& 91 BRE

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-I, B-II. C-III. D-IV

IR

| o

A-ILL B-IIL C-IV, D-I
3. A-IV. B-III. C-II, D-I
4. A-IV, B-1, C-1II, D-III
Options :

686340191825. 1
686340191826. 2



686340191827. 3
686340191828. 4

Question Number : 58 Question Id : 68634048559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Theorists) LIST II (Therapy)

. |Carl Rogers 1. |Rational Emotive Therapy
Fritz Perl II. |Client centred Therapy
Albert Ellis II1. |Gestalt Therapy

. [Victor Frankl | IV [Logotherapy

o] fo] o] b

Choose the correct answer from the options given below:

1. A-IIL. B-II. C-IV. D-I

| E)

. A-IIL B-IIL C-I. D-IV
3. A-L B-II, C-IV, D-III
4. A-I1, B-1, C-III. D-IV

Options :

686340191829. 1
686340191830. 2
686340191831. 3
686340191832. 4

Question Number : 58 Question Id : 68634048559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% 91y g2t 11 BT fHeH i
= 1 (RiETeR) T 1 (=)

A [@e Uo 1. = Al Y3l (@lidhd HIaIHd il
B [hesigd | I [aamg= d=s vl (Hardil-bid afeam
C. [ e |11 fieTee et fafdeean

D. [[dFe h-ha | IV, [aFT 243t

=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-IIL B-II. C-IV. D-I

|

AT B-IILL, C-1. D-IV
3. A-L. B-II, C-IV, D-III
4. A-1I. B-1. C-III. D-IV

Options :



686340191829. 1
686340191830. 2
686340191831. 3
686340191832. 4

Question Number : 59 Question Id : 68634048560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Category) LIST II (Value)
A |Neuiral 1. b
B. Moderately Acidic| I |7
C. |Alkaline ey =t
D. [Injurious IV 2

Choose the correct answer from the options given below:

1. A-II. B-III, C-I. D-IV

| ]

. A-L B-III, C-IT. D-IV
3. A-IL B-1. C-IV., D-III
4. A-IV, B-11. C-I1I, D-I

Options :

686340191833. 1
686340191834. 2
686340191835. 3
686340191836. 4

Question Number : 59 Question Id : 68634048560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 3 I = 1 &1 e sifon

FEIL AT (G o @/ g
eI YA 1|5

AT =iy [ |7
&I 1L |2
BIGCD V. |8

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-II. B-III. C-I. D-IV

Ofa|w]s=

[

. A-I B-III. C-II. D-IV
3. A-IL B-I. C-IV. D-III
4, A-IV, B-II. C-III. D-I

Options :

686340191833. 1

686340191834. 2

686340191835. 3
686340191836. 4

Question Number : 60 Question Id : 68634048561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

A. Balwant Rai Mehta Committee was appointed in 1957
B. Ashok Mehta Committee submitted its report in 1977
C. G.VK Rao Committee submitted its report in 1986

D. L. M. Smghvi Committee submitted its report in 1987

Choose the correct answer from the options given below:

1.®Add A B. C
.HAd A.B.D
3.®HAUA, C.D
4. ®dd B.C.D

[

Options :

686340191837. 1
686340191838. 2
686340191839. 3
686340191840. 4



Question Number : 60 Question Id : 68634048561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foffea i e Y suT 9d &2

A FadRg Hear gifd 1057 H GARIE]
B. 3RN® Hedl 9iafd 4 s 1977 H &l
. ofl.at.&. wia aftafa 3 s fdid 1086 H €11
D. Ta.uH, fudt gfiafa = st fgid 1087 #

- feu 1T fa@eal # 9 99 S9gad SR P 997 SIS
1.9dd A, B.C
2. PdU A B.D
3. %dd A, C. D
4, HAdd B, C,D

Options :

686340191837. 1
686340191838. 2
686340191839. 3
686340191840. 4

Question Number : 61 Question Id : 68634048562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gases are not included in the category of *Green House Gases’?

A. Methane

B. Hydrogen

C. Carbon Dioxide
D. Nitrogen Oxide

Choose the correct answer from the options given below:

1. A& B only

| )

A& Conly
3. A& D only
4.C & B only

Options :

686340191841. 1
686340191842. 2
686340191843. 3
686340191844. 4



Question Number : 61 Question Id : 68634048562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fraferad 14l 7 9§ o1 7191 &1 Uerad 40 1 4ut § 6 7@ T g2

A fHYH

B. Blgglo

C. PESTg TS
D. A5¢Y HH5S

-4 fau e fdeedl # 9 968 S9gad o) &1 99 PIfoiT;
1. Hac A R B
2. PAWARC
3.%ad A 3R D
4.%aq C 3R B

Options :

686340191841. 1
686340191842. 2
686340191843. 3
686340191844. 4

Question Number : 62 Question Id : 68634048563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: Every year government fixes targets for disinvesting PSUs
Reason R: Disinvestment is an effective tool for addressing the loss incurring PSUs
In the light of the above statements. Choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A
3. Ais true but R 1s false

4, A is false but R is true

Options :

686340191845. 1
686340191846. 2
686340191847. 3
686340191848. 4



Question Number : 62 Question Id : 68634048563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
3O

SHfYEYF A T, 7, (Adol-e &9 &1 sHedh) § [0Fe9 & 00 WReR uid oy q& Heiid odi 5
HRUIR : 91¢ § Fa- arell 41,089, &1 8l B34 o forg fafdwr ue gurdt 3uau g |

SRl HY- & 3Tl |, T U 7Ty fasedl § 9 &8 3ugad 3R &l 99 DIy

1. A SR R A 961 € SR R. A ST el AR ©

A SRR Gl gl 8. il R A T Hg! U 7ol &
3. AR B OfT R TR R

4 ATEI TR g AfPTR WEN ®

Options :

686340191845. 1
686340191846. 2
686340191847. 3
686340191848. 4

[

Question Number : 63 Question Id : 68634048564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Article says that "Traffic in human beings and beggar and other similar forms of forced labour are
prohibited and any contravention of this provision shall be an offense punishable in accordance with law™.

1. Article 21(1)
2. Article 22(2)
3. Article 23(1)
4. Article 24(2)

Options :

686340191849. 1
686340191850. 2
686340191851. 3
686340191852. 4

Question Number : 63 Question Id : 68634048564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P I 3¢ Podl © [ AT 3R FrRgial B TR 3R Faii 49 Td 381 aRE P 39 T4l Bl
f8e o SITaT § SR 59 WIa U™ @1 g Ml StaeH S & S9R U6 SUS-1d S{OR1E g |~

1. 394 21(1)
394 22(2)
39S 23(1)
394 24(2)
Options :
686340191849, 1
686340191850. 2

686340191851. 3
686340191852. 4

| )

(5]

=

Question Number : 64 Question Id : 68634048565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Whose agitation paved the ways for reforms in the ethical structure of governance. The agitation was mainly
intended for the creation of a strong lokpal with comprehensive power.

1. I.P Singh

2. Anna Hazare

3. Baba Ramdev
4. Rakesh Tikait

Options :

686340191853. 1
686340191854. 2
686340191855. 3
686340191856. 4

Question Number : 64 Question Id : 68634048565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ SMTaier - XA & Ad® gidl H YR &1 A7 URRG 31| ST=ia S 387 SHiiHd sa9d
YifkTal a1t Ueb HIad AIHUId T ol DT Ul

1.5.d7. fg
. el W)
 S191IHT
4. Y fedva

Options :

686340191853. 1
686340191854. 2
686340191855. 3
686340191856. 4

| )

[#5]

Question Number : 65 Question Id : 68634048566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following announced the "Golden Quadrilateral Project” across country highway to connect
India

1. Dr. Manmohan Singh

| )

. Narendra Modi
3. Atal Bihari Vajpayee
4. Nitin Gadkari

Options :

686340191857. 1
686340191858. 2
686340191859. 3
686340191860. 4

Question Number : 65 Question Id : 68634048566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 fege URd &1 s & 7Y O 3% & SRR ISP & “<gAs<] Iqsp vty uRgreHT Bt
g7 Pl

81 794re- [g

I AL

_caldgR! areudt
4. A Te@t

Options :

686340191857. 1

686340191858. 2

686340191859. 3
686340191860. 4

—

| )

(5]

Question Number : 66 Question Id : 68634048567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Constitutional Amendment grants precedence to Directive Principles over
Fundamental Rights?

1. 428 Amendment
2. 44™ Amendment
3. 61°" Amendment

4. 70™ Amendment

Options :

686340191861. 1
686340191862. 2
686340191863. 3
686340191864. 4

Question Number : 66 Question Id : 68634048567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafag o 9 o= 91 9faym 9oty Aifte Hf9eR & SR Sifa-Feyes Rgial o adgar Sar g?

1. 42a1 SgIeA

| )

. 4441 GEE

61491 IREH

L

4. 781 TRMeA

Options :

686340191861. 1
686340191862. 2
686340191863. 3
686340191864. 4

Question Number : 67 Question Id : 68634048568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
Projection I |A person tries to make unreasonable feelings/behaviours seen reasonable acceptable
Fepression II. |Attributing one's own trials to others

R eaction Formation| IT1. |Anxiety provoking behaviours or thoughts are dismissed the unconscious

REE

Fationalization IV, |A person defends against anxiety by adopting behaviours opposite to his'her true feelings

Choose the correct answer trom the options given below:

1. A-I. B-II, C-III. D-IV

| ]

CA-TV. B-IIIL. C-I1, D-I
3. A-IL B-III. C-1. D-IV
4. A-IT, B-III, C-IV, D-I

Options :

686340191865. 1
686340191866. 2
686340191867. 3
686340191868. 4

Question Number : 67 Question Id : 68634048568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 3 I = 1 &1 e sifon

g 1 et 1
A [mam 1 [®Fs oafad 3MHfEd HIa13l / TdeR &I 31ad 3R Widd dedH & Jard &dl ¢
B [ead 11 [310-] T4 & fa=Iua! / TN 1 Garl IR ARITUd BT
C. w[ ik IIL. [3eid- gRI gl Sd @3- dlc AdeR| SR [GaRl &I @i R ¢l
A [z =iE @ [9%s Y- WiaRal & (oY U1 Fad! Hia13 o [dusid deR] &l
D. [SEIe - R | IV e R ot 21

1 fau U fasedl T O Tl 3R &1 99 Hifell -

1. AL B-II, C-III, D-IV
2. A-IV, B-III, C-II, D-I
3. A-IL, B-IIL, C-1, D-IV
4. A-IL, B-III, C-IV, D-I

Options :

686340191865. 1

686340191866. 2

686340191867. 3
686340191868. 4

Question Number : 68 Question Id : 68634048569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Non- Government Organization (NGO) 1s a United Nations term coined mainly to indicate the
difference between the organizations of the states. which are its direct members and the organizations. that do

not belong to the state. Privatisation and globalisation catapulated the NGOs onto centre stage. often according
them a major role in dealing with the new social, economic. political and environmental concerns.

Statement IT: The First Five Year (1052-57) plan granted formal recognition to NGOs.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

686340191869. 1
686340191870. 2
686340191871. 3



686340191872. 4

Question Number : 68 Question Id : 68634048569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B IERACICATUR

HYT 1 : TR-IRBR WIS (T, A1) TG I FRT YR BT 7T WeaTact ¢ | T JE: Iod & IS,
T P F T TG BId 5. 3R 3 G641 & §d ok TP P & 104 © ofl g P @i 3 el
Bid| 3R BT TSN 311, B Ss 11 B UR Ugdl 6411 7 A, i, Ie-ide iR

TRV BRI R S F E 3 U gof YAl 15|

HYT 11 : U5l Taauid gietT (1952-57) - .90 311, Tf 9=1e Al UeH &

SWRIad HY- & 3Tl H, i U 7Ty fasedl § 9 &8 ugad 3R &l 99 DIy
1. B 1 AR IS gel §

BYA T SR 11 S Tad §

HY 1 T8I 8, A FYT 1 TEd §

PYF 1 TTAd &, i YT I Tl

[

L]

=Y

Options :

686340191869. 1
686340191870. 2
686340191871. 3
686340191872. 4

Question Number : 69 Question Id : 68634048570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who founded the Servants of India Society in 1905

1. Ramalorishna Paramhans

[ ]

. Mahatma Gandhi

LF¥]

. Gopal Krishna Gokhale
4. Swami Dayanand Saraswati

Options :

686340191873. 1
686340191874. 2
686340191875. 3
686340191876. 4

Question Number : 69 Question Id : 68634048570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 1005 T [0 Ha=od TP roa] AEsel (HRT Had SaTe)) B RITGH] B2

1. AHH W REEY
2, HETE e

3. YT TTRg e
4. TqTH] S-S W&l

Options :

686340191873. 1
686340191874. 2
686340191875. 3
686340191876. 4

Question Number : 70 Question Id : 68634048571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following committee for the first time. underlined the need of an organised money market in
India?

1. Chakravarthy Committee (1985)
2. Narasimhan Committee (1991)
3. S.H. Khan Commuttee (1998)

4. Y. V. Reddy Committee (1999)

Options :

686340191877. 1
686340191878. 2
686340191879. 3
686340191880. 4

Question Number : 70 Question Id : 68634048571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeafad gitfaal @ 9 fa 9ad ggd YR § U S1idd Ta1/ Yol §T6R &1 Savged] IR §d 61
1. Iepbacht WiAfd (1985)
Ry gfffd (1901)
 UH.Ud. G 9 (1998)
dTs.d1. TSt |l (1999)

[ ]

[#N]

e



Options :

686340191877. 1
686340191878. 2
686340191879. 3
686340191880. 4

Question Number : 71 Question Id : 68634048572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The MUDRA Yojana for the Medium. Small and Micro Enterprises (MEMEs) was launched in

1. April 2014
2. April 2015
3. September 2016
4. October 2017

Options :

686340191881. 1

686340191882. 2

686340191883. 3
686340191884. 4

Question Number : 71 Question Id : 68634048572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, Y 3R Y&H IeH (TH.TH.UA 5.) & AU <gar i1 &8 = 31 17
1. 37U 2014

U 2015

3. RyawsR 2016

| )

Options :

686340191881. 1
686340191882. 2
686340191883. 3
686340191884. 4

Question Number : 72 Question Id : 68634048573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Under which of the following do all poor households. including SC/ST to be covered (on mission mode) with
a life ingurance cover of Rs.2 lakh on payment of a premium of only Rs330/ per annum?

1. Pradhan Mantri Jeevan Jyoti Beema Yojana
2. Pradhan Mantri Suraksha Bima Yojana
3. Ayushman Bharat
4. Rastriva Swasthya Beema Yojana
Options :
686340191885. 1
686340191886. 2

686340191887. 3
686340191888. 4

Question Number : 72 Question Id : 68634048573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafeiEaa o O &9 giem & siiid g9/ us.2 igd it (9 aReri & am =, 330~ & aiffie
SIRETH/HEH & YIdH R 3. 2 O S Sita- S GR&T ((FeH 718 H) ueH of sl

1. UEAT Sitg= sifd d|1 aren
2. WETTHAT GR&T &A1 giern

3. 3T YRA
4, Y1 TR <A1 Ao

Options :

686340191885. 1
686340191886. 2
686340191887. 3
686340191888. 4

Question Number : 73 Question Id : 68634048574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Asian NATO" engages a group of

1. India. Bangladesh, Nepal. Bhutan

| S

. India. Pakistan. Afghanistan, Bangladesh
3. India, Nepal. Myanmar. Srilanka

4. India, Australia. Japan and USA



Options :

686340191889. 1
686340191890. 2
686340191891. 3
686340191892. 4

Question Number : 73 Question Id : 68634048574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QR AA1el o il &1 g 62
1. YR, SHQTeR, F9Te, Y™
3. YR, UTel. AR, ST
4. YIRd, SR TI, ST 3R S 39 SRS

| S

Options :

686340191889. 1
686340191890. 2
686340191891. 3
686340191892. 4

Question Number : 74 Question Id : 68634048575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The quest for the revival of villages in Free India was supported by several innovations aimed at institution-
building. The first such experiment was the community Development Programme (CDP) inaugrated on :

1. 2nd October 1949

2. 12th April 1950

3. 2nd October 1952
4. 2nd November 1955

Options :

686340191893. 1
686340191894. 2
686340191895. 3
686340191896. 4

Question Number : 74 Question Id : 68634048575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WGa-a YA 1§ TT7al & T 61 S SR - FUi R diéd 959 9R TaER! 9 90 ol 38 Re
&1 Ugdl WO U1 Qe [aeTs Sed (H 310, S 3aure HH iy o= gaim o -

1.2 SGTER, 1949
12 3. 1950

3.2 3R, 1952

| )

4.2 -dHdY, 1955

Options :

686340191893. 1
686340191894. 2
686340191895. 3
686340191896. 4

Question Number : 75 Question Id : 68634048576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Panchayati Raj was launched for the first time at mn 1959

1. Bhilwara. Rajasthan

(B

. Dantewada, Chattisgarh

3. Kochi. Kerala

e

. Nagaur, Rajasthan

Options :

686340191897. 1
686340191898. 2
686340191899. 3
686340191900. 4

Question Number : 75 Question Id : 68634048576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1959 H. Gl IS Tad Ugd Bgl T a1 1 un
1. Hidqars1, I

gddigl, SuUTe

3. DI, B

4. TR, IS

[ ]



Options :

686340191897. 1
686340191898. 2
686340191899. 3
686340191900. 4

Question Number : 76 Question Id : 68634048577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
MMandamus I. | By what warrant or authority’
Habeas Corpus| II. |We command’
Quo Warranto | IIL [To be certified’
Certiorari IV |'You may have the body' or 'To have the body of]

T REE

Choose the correct answer trom the options given below:

1. A-IL. B-III, C-IV, D-I

| ]

CA-ITL B-IV. C-II1, D-I
3. A-L. B-IV, C-II, D-III
4. A-IT, B-IV, C-1, D-III

Options :

686340191901. 1
686340191902. 2
686340191903. 3
686340191904. 4

Question Number : 76 Question Id : 68634048577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 3 I = 1 &1 e sifon

T 1 A1
Rty 1. |fg e o miteR O
EegueIuy | I [eH sexcd e
& il 111 | UHIToTd [ ST &
CESRE V. |- SRR 1d 9ohdl & I &1 IRR 0T

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-II. B-III. C-IV. D-I

ofofw]-

| o

A-IL B-IV, C-I11, D-I
3. A-L. B-IV, C-1I. D-III
4. A-IL. B-IV. C-1, D-III

Options :

686340191901. 1
686340191902. 2
686340191903. 3
686340191904. 4

Question Number : 77 Question Id : 68634048578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which committee recommended the establishment of the scheme of 'democratic descentralization' or
Panchayati Raj

1. G. V. K Rao Committee
2. Ashok Mehta Committee
3. Balwant Rai Mehta Committee
4. L M Singhvi Committee
Options :
686340191905. 1
686340191906. 2

686340191907. 3
686340191908. 4

Question Number : 77 Question Id : 68634048578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fep g i = e ditie [dh-=<ieur a1 Hard! I B GIeT AR D DI S D12
1. ol d1.b. 1 wiwfd

3= Hedl JEfd

3. g7 I Hegd Fiafd

4. e vy, Riudt gfafa

[ ]

Options :

686340191905. 1
686340191906. 2
686340191907. 3
686340191908. 4

Question Number : 78 Question Id : 68634048579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Fundamental Duties were incorporated in the Constitution of India on the recommendation of :
1. Shah Committee
2. Administrative Reforms Commission
3. Santhanam Committee
4. Swaran Singh Committee
Options :
6863401919009. 1
686340191910. 2

686340191911. 3
686340191912. 4

Question Number : 78 Question Id : 68634048579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ A 1 MR R YR Hiau= J 12 Sdodl & Sifad fear T/ up
1. 91Te HfAfd
RIS UR TR
A giEfd
 TquiRig Sfd

Options :

| ]

L]

e



686340191909. 1
686340191910. 2
686340191911. 3
686340191912. 4

Question Number : 79 Question Id : 68634048580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

It 1s widely used and major statistical measure to compare and analyze social mequalities

1. Ecclesia

[ )

. Gaia Hypothesis

3. Gini Coefficient

4. Adam's Correlation
Options :
686340191913. 1
686340191914. 2

686340191915. 3
686340191916. 4

Question Number : 79 Question Id : 68634048580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U MNP SIS B qa-1 SR [GReyur & oy Ue U@ Sikeas i 31 ¢ o] oras &R 1R
KLU

1. Uit
TG 3T YR
T Tonie

4. USH B HgHay

[

L]

Options :

686340191913. 1
686340191914. 2
686340191915. 3
686340191916. 4

Question Number : 80 Question Id : 68634048581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Levirate and sororate are related to

1. Family

2

. Culture

LFS]

. Types of Communities among tribal
4, Caste group found in South America

Options :

686340191917. 1

686340191918. 2

686340191919. 3
686340191920. 4

Question Number : 80 Question Id : 68634048581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dfave 3R 9RRe e @ fegd ddfaa 22
1. GRAR
TRyl & gl & UaR
4, &f&ur 3T & Uig S arel Siifd-34g

| ]

L

Options :

686340191917. 1
686340191918. 2
686340191919. 3
686340191920. 4

Question Number : 81 Question Id : 68634048582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

With regard to ‘Privatisation Wave’ in the world, the wave of economic reform under "Perestroika” started in

1. Norway

[ )

. USA
3. UK
4. USSR

Options :
686340191921. 1



686340191922. 2
686340191923. 3
686340191924. 4

Question Number : 81 Question Id : 68634048582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 3 Frofieso 31 ex & deu 8, Rdighr & sFavid e GuRi 31 76 B8l T 55
1,918
2.904T.
3.9,
4. g UYTH.3R.

Options :

686340191921. 1
686340191922. 2
686340191923. 3
686340191924. 4

Question Number : 82 Question Id : 68634048583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Tsunami are popularly called Tidal waves but they actually have nothing to do with the tides.
The effect of a Tsunami can be unnoticeable or even destructive.

Reason R: Tsunami waves release huge amount of energy and have the capacity to cross oceans. The degree
of movement depends on how fast the earthquake occurs and how much water is displaced.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R 1s false
4. A is false but R 1s true

Options :

686340191925. 1

686340191926. 2

686340191927. 3
686340191928. 4



Question Number : 82 Question Id : 68634048583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂﬁgﬁ HY [T T §: U 3BT (Assertion A) & =0 H fREd g Tl G¥RT SHD BRI (Reason R) &
Sy H:

DY A - GATH Bl dicdrd B YN H 5IR gL del Wil 5. U did § 8] 5aR 4 o Ul a1
ol § | A o yuTa 710y off 81 Febd § A [q=eRT gl 9hd ¢ |

HRUR : AT 63 Sl ! [T AET e Bl o SR TEMPRI 31 U UR &= BT &l 3@l 8
Iae B AE1 58 IR R St § 135 Y@ faraet ool I 1T iR fda=T ot fa=iiftd g3l
SWRIGd DY & Al 1, A S 7Y fadedl & 8 Ta9 SUgead 3R &1 99+ SIfol:

1

| )

4.

A SRR G Tol 6 AR R AP ol ARAT &
AJRRET GEI 8. AfPTR AT IS wrE el ©

ATgig afeTr ol g ©

AT TS e AT R TS ®

Options :

686340191925. 1
686340191926. 2
686340191927. 3
686340191928. 4

Question Number : 83 Question Id : 68634048584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The full form of FEMA is

1. Financial Emergency Management Authority

2. Foreign Equity Management Act

3. Foreign Exchange Management Act

4. Financial Emergency Money Authority

Options :

686340191929. 1
686340191930. 2
686340191931. 3
686340191932. 4

Question Number : 83 Question Id : 68634048584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U%.3.0H.0. &1 gl =9 &1 &7
1. TgTRIge UrRei=dT eorie ufedt
PR TagS BoHe Uae

TSR ARSI A1 STUTRE

Options :

686340191929. 1
686340191930. 2
686340191931. 3
686340191932. 4

| )

[FN]

=

Question Number : 84 Question Id : 68634048585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. [Hagen's Theory [ |Achievement motivation
Martindale's Theory | II. |Social change
MMeClelland's Theory| 111 [Cultural change
. |Pareek’'s Theory IV. [Motivational Paradigm of Development]

o] [l fos] i

Choose the correct answer trom the options given below:

1. A-I. B-II, C-III. D-IV

| ]

CA-ITL B-1L C-IV, D-III
3. A-IIT, B-IV. C-II. D-I
4. A-I1, B-1II, C-1. D-IV

Options :

686340191933. 1
686340191934. 2
686340191935. 3
686340191936. 4

Question Number : 84 Question Id : 68634048585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 3 I = 1 &1 e sifon

T I At 11
EoH ol gl | L [3uied IR
ife=a &l sl | 11 [gare uftads
Hhacicis Bl [l 1 [iRpide gRkad
URiD &1 fgrd | IV [[9e &1 IRuHds WRIsiEH|

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-I. B-II. C-III. D-IV

Ofa|w]=

2. A-IL B-1. C-IV, D-III
3. A-IILL B-IV. C-I1. D-1
4. A-IL. B-III. C-I. D-IV

Options :

686340191933. 1

686340191934. 2

686340191935. 3
686340191936. 4

Question Number : 85 Question Id : 68634048586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: H.J. Eysenck propounded Behaviour Therapy and has expounded i unequivocal terms. based on
scientific evidence and keen logic. the foundations of the principles of learning for all maladaptive behaviour,
except the pure organic conditions and psychoses.

Statement II: Problems of professionals ethics have been discussed by H.J. Eysenck and behaviour therapy
based on the principle of learning is the major approach for dealing with all behavioural problems.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false
4, Statement I is false but Statement II s true
Options :
686340191937. 1

686340191938. 2
686340191939. 3



686340191940. 4

Question Number : 85 Question Id : 68634048586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I C Rl

FYF 1 : TI.. AST-F 5 aeR i &1 ufaues fGar 3ik aafae uamr gyt B9 d6f & 3yR IR
fasTs e a=mefl 3R Afegiant & sifafeq, 91 o a® aaeR] & e e & e &
SR B, SIS S Y IR Bl |

YT 11 - TI.90. A5 gRI ULNTT Sfddal &t Iurail R == &1 Ts ol 3R A & gia w®
e oagR fafare e v womedt 21

SWRIGd YA & AP H, 1 [SU U [dbed] § T ol 30 1 994 DI

1. PYTI AR I SH T
YT IR I & A §

FYT I T . AT Y I T ©
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L]

PUT A . AfbT YT I T B

=Y

Options :

686340191937. 1
686340191938. 2
686340191939. 3
686340191940. 4

Question Number : 86 Question Id : 68634048587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was NEPA (National Environmental Policy Act) enforced in India?

1. 1968

[

. 1960
3. 1970
4. 1975

Options :

686340191941.
686340191942.
686340191943.
686340191944,

AW N =

Question Number : 86 Question Id : 68634048587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRA H 97 (e GHarREe Ui gae / A9ty gaiaxul Hifd Siaf-am) &e e gen

1. 1968

| )

. 1969
3. 1970
4. 1975

Options :

686340191941. 1
686340191942. 2
686340191943. 3
686340191944. 4

Question Number : 87 Question Id : 68634048588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following gases can deplete the Ozone layer in the Stratosphere (Upper atmosphere)

1. Methane

| B

. Carbon monoxide
3. Ammonia
4. Sulpher Dioxide
Options :
686340191945. 1
686340191946. 2

686340191947. 3
686340191948. 4

Question Number : 87 Question Id : 68634048588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JaAIH ST (ST argHee) ® Fafafad § 9 o 6 i sfieie wd & effor B adi 82
1. foge
BT T 1SS
3

| )

[#%]

4. GIPR T15 TS

Options :
686340191945. 1



686340191946. 2
686340191947. 3
686340191948. 4

Question Number : 88 Question Id : 68634048589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Programme of Flood Management was launched in the year?

1.1954

2.195

_n

3. 1965
4, 1975

Options :

686340191949.
686340191950.
686340191951.
686340191952.

A W N =

Question Number : 88 Question Id : 68634048589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 916 YaRH SrichH e auf == fopar mar U

1.1954

3. 1065
4. 1975

Options :

686340191949.
686340191950.
686340191951.
686340191952.

AW N =

Question Number : 89 Question Id : 68634048590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S and P waves are associated with

1. Floods Current waves

| B

. Waves of wind Energy

LF¥]

. Earthquakes
4. Tidal energy waves

Options :

686340191953. 1
686340191954. 2
686340191955. 3
686340191956. 4

Question Number : 89 Question Id : 68634048590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TH R 9 @ed/ a9 e ¥ wEs 8
. §Tg TaTg Tl

a—y

| ]

g Sl &I T8y

P

4, SOR-Foll T8s

L

Options :

686340191953. 1
686340191954. 2
686340191955. 3
686340191956. 4

Question Number : 90 Question Id : 68634048591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LIST II
. |Sansknitization I. |Process of transforming something of economic values
Westernisation II. Process of devolution of function and resources to lower level elected bodies

Commercialisation] II1. [Process by which lower caste group adopts the life stvle of upper caste group
. [Democratization | IV |Change in Indian culture due to over 150 years of British rule

o] fo] [o=] Feg

Choose the correct answer trom the options given below:

1. A-IIL, B-IV. C-I, D-II

[ E)

CA-ITL B-IILL, C-1. D-IV
3. A-L. B-II, C-III. D-IV
4. A-I11. B-1I, C-1. D-IV

Options :

686340191957 1
686340191958. 2
686340191959. 3
686340191960. 4

Question Number : 90 Question Id : 68634048591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% 91y g2t 11 BT fHeH i

T T Tl 11
Hehdiot | L |anfde g arell fodt 9% o ©Uidiu o Wishdl
wgrdiaye | 1[5 U Al & Hide Ridd o G9! SR B bl gEiaiyl
@ursdiaeol | L[99 Siifd THET §R1 Sod Siiid Hp! &1 siig-=ic 3O B Jishal
_[armarEi@R | 1v [150 39T 9 o1 & [@ew 2eE & SRU URD™ Ubid H 31U gRad

=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-IIIL, B-IV. C-I. D-II

ofofw]s

|

. A-ITL B-IIL, C-1. D-IV
3. A-1, B-II. C-III. D-IV
4. A-IIT, B-11, C-1. D-IV

Options :

686340191957. 1
686340191958. 2
686340191959. 3
686340191960. 4



Question Number : 91 Question Id : 68634048592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

resemble the "Instrument of Instruction" enumerated in the Government of India Act of 1935

1. The Directive Principles of the State Policy

(B

. Fundamental Rights

L¥ 5]

. Fundamental Duties

4. Both 2 and 3

Options :

686340191961. 1
686340191962. 2
686340191963. 3
686340191964. 4

Question Number : 91 Question Id : 68634048592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1935 & HRA WXDR Hf-m J geliag sreeiaryes A Bad Jodi gl
1. X9 1 i & e Riar

T SiUeR

i i

4. TfcTep 3R SR HIfeD G <l

[ ]

[FS]

Options :

686340191961. 1
686340191962. 2
686340191963. 3
686340191964. 4

Question Number : 92 Question Id : 68634048593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sometimes secondary pollutants like Ozone. PAN. HNO3. H,SO, (Sulphuric Acid) formed from primary

pollutants are more toxic than primary pollutants. This phenomenon of increased toxicity in pollutants is called

1. Synergism

| ]

. Green House Effect

L]

. Eutrophication
4. Biomagnitication

Options :

686340191965. 1
686340191966. 2
686340191967. 3
686340191968. 4

Question Number : 92 Question Id : 68634048593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol il wruftie wgue! I 97 fgdiue ugud. o 3iier. U9 (URaad! ufdd A15¢2). HNO;. H,S0,
@Wﬁg@%’. ). TTUE® TN | $1 qamT 8 iU [aured gid § | Ugue! § aftid farear &1 ufsar g
EAUIGIN

4. Sa-HTgaeq / & AfftheeH

Options :

686340191965. 1
686340191966. 2
686340191967. 3
686340191968. 4

Question Number : 93 Question Id : 68634048594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: The President of India determines the qualification of the chairperson and members of the
Finance Commission.

Reason R: The Chairman and members of the Finance Commission are appointed by the President of India.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 18 NOT the correct explanation of A
3. Ais true but R 1s false

4, A is false but R is true

Options :

686340191969. 1
686340191970. 2
686340191971. 3
686340191972. 4

Question Number : 93 Question Id : 68634048594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
3T

ey A - faw 3MaPT & 3remgd SR TeEd! @l U] HRd BT AYUfd 07 SRl g
PRUIR : fotd SN & 3remef 3R Wewl &1 FYfe HRd o1 yufd $Rarg|

SURIad HY- & 31l |, -1 AU 7Ty fasedl ¥ 9 &8 Sugad 3R &l 99 DIy

1. A SR R I 961 € SR R. A el IR 3

2. A 3R R G 98! §. Al R. A B el AR 75l o
3. AR AfT R TR I

4 AT TR G AfPTR T ©

Options :

686340191969. 1
686340191970. 2
686340191971. 3
686340191972. 4

Question Number : 94 Question Id : 68634048595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who draws the following conclusion that gender roles are culturally rather biologically determined?

1. Bruno Bettelheim

| B

. Ann Oakley
3. Ernestine Friedl

4. Sherry B. Ortner

Options :

686340191973. 1
686340191974. 2
686340191975. 3
686340191976. 4

Question Number : 94 Question Id : 68634048595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191973. 1
686340191974. 2
686340191975. 3
686340191976. 4

Question Number : 95 Question Id : 68634048596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who in a study entitled 'Social Structure' examined the institution of the family in a wide range of societies

1. Nancie Gonzales

| )

. George Peter Murdock
3. Melville J. Herskovits

4. M. G. Smith

Options :



686340191977. 1
686340191978. 2
686340191979. 3
686340191980. 4

Question Number : 95 Question Id : 68634048596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191977. 1
686340191978. 2
686340191979. 3
686340191980. 4

Question Number : 96 Question Id : 68634048597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every culture contains a large number of guidelines which direct conduct in particular situations such
guidelines are known as

1. Traditions
2. Mores
3. Norms

4, Socialization

Options :

686340191981. 1
686340191982. 2
686340191983. 3
686340191984. 4

Question Number : 96 Question Id : 68634048597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191981. 1
686340191982. 2
686340191983. 3
686340191984. 4

| )
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Question Number : 97 Question Id : 68634048598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year India has ratified the convention on the Elimination of All Forms of Discriminations (CEDAW)

1. 1988

| B

. 1980
3.1992

4. 1993

Options :

686340191985. 1
686340191986. 2
686340191987. 3
686340191988. 4

Question Number : 97 Question Id : 68634048598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1988

| )

. 1989

3.1902

4. 1993



Options :

686340191985. 1
686340191986. 2
686340191987. 3
686340191988. 4

Question Number : 98 Question Id : 68634048599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The hypothesis that people percetve the world through the cultural lens of language
1. Arendt Hannah hypothesis
2. Diana Gittins hypothesis
3. Michel Founcault hypothesis
4. Sapir-Whorf hypothesis
Options :
686340191989. 1
686340191990. 2

686340191991. 3
686340191992. 4

Question Number : 98 Question Id : 68634048599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191989. 1
686340191990. 2
686340191991. 3
686340191992. 4

Question Number : 99 Question Id : 68634048600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following provides that state parties shall take all measures to eliminate discrimination against
women in all matters relating to marriage and family relations.

1. Article 13
2. Article 14
3. Article 15

4, Asticle 16

Options :

686340191993. 1
686340191994. 2
686340191995. 3
686340191996. 4

Question Number : 99 Question Id : 68634048600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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394 13
2. T4 14
3. 3G 15
4. TG 16
Options :
686340191993. 1
686340191994, 2

686340191995. 3
686340191996. 4

—

Question Number : 100 Question Id : 68634048601 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The slogan "A tree for each child" was coined for

1. Social Forestry Programme

| B

. Clean Air Programme
3. Soil Conservation Programme

4. Environmental Protection Programme



Options :

686340191997. 1
686340191998. 2
686340191999. 3
686340192000. 4

Question Number : 100 Question Id : 68634048601 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191997. 1

686340191998. 2

686340191999. 3
686340192000. 4




